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The Cosine Law for triangles can be used when:
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a.  three sides are known and a corner angle is required

o\miles g

zngic—oppostte—ﬁ—— Sine |q.__| |

|. Calculate the value slope of a line if it goes up from 3 units to 8 units as you move 4 units to

the right. 5"'?‘ :
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a. m=- b.
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2. The slope of a horizontal line is: horitontal docs mit rise! No change in at
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5. Which of the following is not an example of a linear relation or pattern?
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¢) the number sequence d) The scatterplot graph
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7. Select the trigonometric ratio you would SO\'\ CAH 1 oA

use to solve for x.

a) tangent ratio

b) cosine ratio . o_ X 20m
éi sine ratio) sin 3% 20 opP
d) Pythagorean theorem

6.

The scale of the bug picture is

1 cm : 5 mm. What is the actual length of the

ladybug (Tail to nose)?
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Calculate the slope of the ramp.
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Match some definitions with the correct term from the list below. Write the correct term on
the line below each definition. Not all terms have a definition provided.

angle of depression | cosine ratio fixed value scale factor

angle of elevation dependent variable geometric sequence | scatterplot

arithmetic sequence | direct variation independent variable | sine ratio

component vView exploded view interpolation slope

constant of variation | extrapolation linear relation tangent ratio
one-point perspective | variable
partial variation

1. The view of an object that shows all the parts, and how they are oriented to each other.
@xploded view
2. A set of numbers such that each successive number is a certain fixed amount larger/smaller

than the previous number. .anear f'Elﬂt‘:“h oF Grithmetic se%uence
3. Estimating values outside the set of data.

extra Fnldti-on

9. Measuring an angle downward from the horizontal.

ﬁnﬂ e of cJePr-essioh

10. A method to represent scale that involves no units. _
Seale Lctor or scale ratio

L ) @a? 50,000 map .
11.  the measure of the ‘pointiness’ of a right Hfiangle by comparing the side opposite from the

angle to the length of the *hypotenuse’. % is 1 he sine retio
49

4. The ratio that compares the change in the dependent and the change in the independent
variables of a linear relation. S/QF e or constant of Variation

5. Anratio that compares the sides opposite and adjacent to an angle in a right triangle.
a“q en l‘ﬁt\'. ]
6. A symbol or letter that represents an unknown value. Varioble

7. A variable in a math relationship that is not affected by the other variable. ,~onstant

8. A graph of plotted points that shows the relationship between two sets of data. Example:
age vs income. Height vs time for a falling body. _GC,OTH.&' » | o-|'_
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OPEN RESPONSE
Show work
1. The graph shows Jack’s typing speed. A Jack's Typing Speed
a.  State the independent and dependent Z(:
variables and units.
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Imeasur ing GS ¢ chon ' o Time in Minutes (1)
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2. How can you tell whether a set of numbers represents a linear pattern? Use an
example as part of your answer.
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4. During the second week of November, Emma works the following hours: Monday, 2:
Tuesday, 6;: Wednesday, 3; Thursday, 8: Friday, 7. Emily’s hourly rate is $15/hr.

a)  Express the relation between daily gross pay and hours worked with an equation.

Pﬁ RKfEa-Ppﬁta [)ev- hour X hours
=, #)s/ v haurj

b)  Complete the following table of values for the relation between daily gross pay and
hours worked.

Mon. Tues. Wed. Thurs. Fri.
Holu‘sI %‘orked ;L % / / / q J 6
Gross i;«i}!_(S) '1’30 + 120 |3 165 YT ?3“‘[0

3. Does the table of values represent a li ion? Explain your answer.
bx? IS 9N

Number of Fish 3

6

15

Profit ($) 10

20

50

L w
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9

15-3

c.  Draw a graph to show the relation
between gross pay and the number of hours Hoy
worked. Write the appropriate scales and
labels onto the graph.
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d.  Explain how the hourly rate is related to the slope of the graph. For example, if she
were paid only $10 per hour, how would this affect the graph’
A e .Qowcr

The sialae would

stee ’ A high Fdte "s R
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e.  IfEmily were paid $20 per shift plus her wage of $15 psT hour, how would this affect the
graph? She eorns at o c\k r pote ? e line would

be steepery Fcse more %uu.\’l\'a

c. Find the volume of this substance with a mass of 18 g. Use the formula from part b.

Write your answer rounded to one decimal place.
iBe =V V=138 m»?

A AR B - 2
°H3.5cm

d.  Find the mass of this substance with a volume of 9 cm’. Show your work on the graph

M=%V %

o M=Y.9 =/agres p,

3

5. The relation between the mass A

Mass vs. Volume

(m) of a substance and its volume (V) 2
is expressed by the graph. "
a) Cl hoosehlwo points on the graph 1%

and use the coordinates of these
points to calculate

£ Pa
the slope. E 12 !
48 4y p L.
= = — €
Bx +L 3 » g s
2
b.  Express this relation as an s
equation. Be sure to 1dentify the 4
variables. chonge l-tt
= - Fu
Mnss- .;_.Voluue L]
% T2 3 1 5 ¢ 7 @8 ¢ w0
Volume in m 4

or
Mmass = [,23 *Volume

LE.Cm

6. Sam's car has a broken speedometer, and so he is using his GPS to determine his speed.
According to the GPS, his specd is 40 metres per second. The speed limit is 110 km/h. Is Sam

speeding? Show how you arrive at your answer. Grade 10 chwet-'{'_l
? T Chow anits and
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7.  From a point 125 m from the foot of a building, the angles of elevation of the top and
bottom of the flagpole are 40.0° and 38.1° respectively. The flagpole is set on the roof of the

building.
i

Q.
TP ten 30 T
2l b=135 tan38.1°
i = 94R.0[ mefres
o L ftanto= 2
a.  Calculate the height of the building, b . brh= Il:!in‘-'f . "l:ar;n
0

b.  Calculate the height of the section of the flagpole, h. | So hz

60%%"\ |

=) Sides and included ﬂ"‘i'&

So coSche law !
al=b'-l+c -2bc -cos A

9. Find the value of)B

56&,: o= 9"':'.5 -2 8 € cos50

x \? 3
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8. Calculate the measure of 0 in degrees. Write your answer rounded to one decimal place

= orp tan® = /
= 3fL | ~
= a Ao 0 D= fah (3/.3
- 13 ft. B - IE
= Angle
= l/ Degrees)  Sin  Cos _Tan
— Use trigonometric tables too to see if you get about the same answer 0 0.000 1.000 0.000
B 1 0.017 1.000 0.017
— Draw it to scale and measure it and see if you get about lhc same answer 2 0.035 S0 24 0.035
i r ‘ T . 3 0.052 0.999 0.052
| [\\\\ 90 L . 3/ = 0.3 4 0.070 0998 0.070
NN (6 F P /i 5 0.087 099 0.087
L Yer D RN = 6 0.105 0.995 0.105
I ot/ ERY 7 0.122 0993 0.123
| e/ \ﬁ,’\‘ 8 0.139 0.990 0.141
A V. 9 0.156 0.988 0.158
0 O s S 15| 10 0.174 0985 0.176
— — 11 0.191 0982 0.194
0.208 0978 0.213
0225 0974 0.231
I A A R A

10. Find the value of x and 0.

d sides and dv\j le in betucen

b P S0 cos Lne Iq W ;,u-uési\ron‘x

. l-..nol Aength % \Y

95° )( 4_.,;5".;.}33 ;15’2 Q%‘Casqg
5, 2i+12,88-2%5, 2
12.8 km *12. Skcos(95)

202.4821725




10. Find the value of x and 0. X = ’,_‘_ _ XM 11. Find the value of angles Theta, 6, and Beta, § cos ’qw?

Noes not war I’\I.
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50 scne law !
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zc = cos” (— 5

- Eind
/.C = 63.64734898. .. 5‘0!—7%%5,a e = T

(c=6%° So! )3‘—T%0—ql = 8q9°
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519 = & 30@ = sin

50 O sin (0.5190
5 = 31:30542411
B=31°

Design Modelling

: 1 b.  Use the isometric dot paper below to draw a 3-D representation for the Set 1 of the 2-D
1. Use the 3-D drawing below to answer the questions that follow. s )
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<. a.  Select the 2-D view below that mares the drawing abowé
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b) The scale of the above drawing is 1 unit : 2V4 feet. What are the actual dlmensmns of the

objects individual parts? | ..oH.l\ "l'yn-F'L

b) Complete a one-point perspective drawing of the object below, if the vanishing point
is below and to the right.

3. a) Where is the vanishing point for the drawing shown below?

4. How is the graph here misrepresenting
information? There are two ways!

First Deception:
O Oh| Ioohm hing at % t?’
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Second Deception:
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5. How is the graph misrepresenting the cost
of day care?
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tlu.

Monthly Cost of

remained pretty flat

6. Would you accept this report from one of
your branch managers about their steadily
increasing sales of shoes at their outlet?
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